House of Character in Birkirkara



Birkirkara, Central



€282,000

Reference No: 240061162-193

Total Rooms: 6

Floor Area (m²) : **138**

Bathrooms: 1

Bedrooms: 3

House of Character - For Sale -Birkirkara

BIRKIRKARA – HOUSE OF CHARACTER - Situated in an Urban Conservation Area and in a tranquil residential area. An unconverted property consisting of an Sitting Room, Kitchen/Living/Dining, 3 Bedrooms, Main Bathroom, Roof Terrace + Airspace. The property is being sold being sold freehold. For more information or viewing kindly contact our RE/MAX agent.

Air Space

Roof Terrace

Features

- Yard
- Back Yard

Rooms

- Kitchen/Living/Dining : 6.98 x 3.9 m (27.22 m2)
- Sitting : 4.8 x 2.7 m (12.96 m2)
- Double Bedroom : 5.14 x 2.9 m (14.91 m2)
- Double Bedroom : 2.67 x 4.04 m (10.79 m2)
- Double Bedroom : 5.1 x 2.8 m (14.28 m2)
- Bathroom : 1.5 x 1.5 m (2.25 m2)

Gallery



















Jean Claude Portelli Coleiro RE/MAX Superior - Fgura

M: 77585833 E: jeanclaude@remax.com.mt T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta